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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

Warning: col ['FVOPH' ] is missing

—&— PHO

10

15

20

25



2

3

3

2

2

1

3

3

3

3

2

2

2

Trend plot forG3-3 0
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G3-3

BYiE) | GEBIATK (R) | EHME (EA/H) | EBRERE (B/R) | XK EE
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14:55 138 80.0 1.728 | FHAe14:55 KEEF (KAERESE)
23t| 966.0 (70%) 560. 0 3EGHKEC: 3000.0, PH: 6.5

unusual large postFgEt from yesterday (254), set to 240.0 ml.
REXEPH (10.53) 5i7EPH (6.5) REK K, FEE
REXJEBIPH (10.53) 5FMPH (6.5) RERK, FHRE
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G3-3_0, Day=24 (2025-06-05)
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